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West Bengal State University
B.A./B.Sc./B.Com. ( Honours, Major, General ) Examinations, 2013

! PART - 1I

i PHILOSOPHY — HONOURS

F | Paper - IV

t ( NEW SYLLABUS & OLD SYLLABUS )

Duration : 4 Hours | [ Full Marks : 1l

Candidates are required to give their answers in their own words as far as practicable.

The figures in the margin indicate full marks.
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a‘&\ ( NEW SYLLABUS )

" Answer Question No.1 and any six questions taking two from each of Groups A, B and C.

1 72 opy @32 el =5, ¥ @ o il (v o @ (b =afb e Sew e
5 Answer any five questions : . Sx 2=l
@ G oiifb ercam Sew fiw
a) What is exclusive disjunction ? Write with example.l

faiear Sl 2@t F @IEAE 2 THRIeriR T |

b) Write with example the rule of universal generalization.
A AEIwe @ Swizaerz &Y=
c) What is null class ? Write an example.

BRISCRCRIRSC R o RACIEELRECE
d) If p.gq=T, then determine the truth value of the statement form (p>q)=~q.
I p.g=T 2V, OR@ (p>q)=~q IFFRAL o g |

€) Translate the following sentence into Boolean notatlon and then express
terms of Venn diagram :

Some men are simple but intelligent.

facare afee N Bifiee ewm s (eafbaa T o I
fog WA 7@ g gfawm |
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What is propositional function ? Write with example.
IAEHE I IET 2 GHIRAeT et |

Show whether the following statement is correct.

Fre it wa e @ |

(x)~Px=~(3x)~Px

Symbolize the following statement :

All horses and cows are mammals.

e afbee Afor wri forye

N SF 1L (AIT] BT |

. What is product theorem in probability ?

AR SR @ F 2
Define Mill's method of 'difference’.
fara fowdl orafon srees] ferea |
Group - A
feot - =
Write the differénce between material equivalence and logical equivalence. 4
e Tl ¢ (A IO FET SN B

Determine whether the following statement form is tautology, self-contradictory

or contingent by means of truth-table : 2

W%ﬂmﬁmw@mﬁvmﬂwwﬁwmwm@ﬁmw:

[po(g>r)l=lg>(p>r)]

Test the validity of the following argument by truth table method : 3
TOPTR HEwfod ARIRT AbA AFHA QLS IBIR T

(va):Q

Q2 (0. P} - OwP)> (0. P)




PHIA(HN)-04 ' 154

d)

€)

b)

What is 'Statement form' ? Write with example. 3
AR 108 B @R > Wz |

Explain the following statement in brief : : 3
"A tautology is implied by any statement."

Ax YR Aeewest ana wew |

O] I (X (W I54 @1l effosiire 271”7
Construct formal proof of validity of the following arguments ( do not use C.P. |

ot LR ) : 2x3=6
e Yfeefn wemere tayer ewe @) (C.P. A1 [P, IRZR 11 IR Al :
i) Socrates is a philosopher. Therefore today is Monday or today is not
Monday.
AGEFH GPe A | FSA1L ST NI ST ST A 7 |
ii) If either it will rain tomorrow or it won't rain tomorrow, then weather
predicting is an exact science. Therefore, weather predicting is an exact
science. '
I TR IR 2 A -8 W OREIS ARRISAR AN oFe e @ o
WRRIGTR SN 2P o e |
Prove the invalidity of the following arguments by the method of assigning truth
values : 2x3=6
STORETS WIS afod AR v ferafor sitage e a2
i) So(ToU) : i) IoS(JvK)
Vo(WoX) (I K)>L] - I>L
T>(V.W)
~(T.X)/..S=U
What are the three basic laws of thought ? 3
fourR o1 3@ fomfe 1 F 2
Use truth-tree method to determine whether the following propositions are |
consistent : 3F

ToPNR SiFfo 2% IR A @it Hesfosef o1 R e

A->(B&C),(BvC)->D
Use truth-tree method to test the validity of the following : 2x4=8

oS 2w 29 I AR el are Rom v
iy (A&B)->C

~A—>D/:.B-(CvD)
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i)  We shall fish if it rains and swim if it does not. Therefore we shall fish or
swim.

YT HOIT G |

Is the statement - C —» A implied by (A->B)—>C ?

(A > B)—>C IR0 & -C > A afoom @ 2

How does the principle of exportation validate the rule of conditional proof ? 3

Exportation-a3 @b feer@ el eme Riye @y 3@ 2

Prove the validity of the following arguments by C.P. : 2x4=8
sl i tarem (C.P. Raom =i ewie s :

i) ADB,CoP [ AvC)o(Bv D)

1i) If you plant tulips then your garden will bloom early, and if you plant

roses then your garden will bloom late. So if you plant either tulips or
roses then your garden will bloom early or late.

Ffw o BEfrerm 51 s SR SIoEE AN Orerelfe el Fo @ I
SN oM BTN FIT OIRET SR A5 (RIR0S ot e | Jeane A e
BCRrol Tse SRl (eI TSN S WO IO 2T SreTeIf ST (RS T
TOE |
Use the method of indirect proof to verify the following is a tautology : 4
AT AN NS TR AN % (@ e i wossre; -
A=[Av(A.B)]
Group - B
faem - %

Test the validity of the following arguments by Venn diagrams indicating the mood
and figure of each of them : : 3 X0 15

% @ ey Tty I REliie Jfewl taye fem s

a)

b)

Where there's smoke there's fire, so there's no fire in the basement, because
there's no smoke there.

US4 IR af%, fedie (@INDHs 3% (33 F1=e ORI g3 (32 |
All bridge players are people. All people think. So all bridge players think.
el e (TG WAE | 9 WER HIrliet | 7exe 7 dier (NETIeR e |

-
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This syllogism is valid, for all invalid syllogisms commit an illicit process and
this syllogism commits no illicit process.

92 TR 9y, IR K WY VIR W7y ofew G @qe a3 e (@ itay ofa
o | '

What is meant by 'existential import' of propositions ? Do all categoricall
propositions have existential impart ? Critically discuss with reference tol
traditional and modern logic. : 3+8

W‘Wm@m’mﬁsm?ﬂaﬁmwasm%m%«@mmm?m sifes

T SH T SR ARG WA 2T |
Give Boolean interpretation of the following sentences and represent them in
Venn diagram (any two ) : 2x2=4

WW@WWW%WW@WW(@W@):

i) Ghost does not exist.

9O R |

ii) Children are not fools.
R el w3

i)  Some snakes lay eggs.
fey 719y o oniew |

iv)  There are idle man.
ST T ST |

What are the differences between propositional function and truth function ?
Write with example. ; 3

CHIRATTR TBACTHE QIR FOIH ML 214 |
Construct formal proof of validity for each of the following : 3x4=12
Resre feafm sremens e em fm ;
1) (x)(Bx >~ Cx)
(3x)(Cx.Dx)/ . (3x)(Dx. ~ Bx)

ii) Some photographers are skillful but not imaginative. Only artists are
photographers. Photographers are not all skillful. Any journeyman is
skillful. Therefore, not every artist is a journeyman.

%mmwﬁ@wmqwrmﬁwﬁ@immlmmmw

T QP SNAfASA] > | [ o7 I aefiom] =
iii) (x)[(Avax)D(Cx.Dx)]/.'.(x)(BxDCx)




e
157 PHIA(HN)-04
a) Symbolize the following sentences by using quantifiers, variable etc : 3x2=6

fasfefie areeflam sfanas, afe-aze 3enfia TR Mo we aom™ FE ¢

1) A man will win if and only if he is intelligent.

Ger Jife &l 200 M I @R (@3 I o7 T =T |

1) A book is interesting if it is well-written.
@ 3R frerede 2 3w sfferfs = ‘
iii)  Not all people who are wealthy are both educated and cultured.
w3 fFedw aife s ag FEsrom 93|
! . D) Prove the invalidity of the following arguments : Sx3I=9
ve Yeafr wtage e 3w ¢
1) (3x)(Mx.Nx)

(3x)(Mx.Ox)/..(x)(Ox o Nx)
1 i)  (x)(Px>~0x)
(x)( Px>~Rx)/..(x)(Rx o~ Qx)
iiiy If anything is metallic, then it is breakable. There ére breakable

ornaments. Therefore, there are metallic ornaments.

7 B R 197 0o 2 O@ O ©HA | A OIRAI W(Z | OAR LG (Ol 521G

bn 778
3 |
'? Group - C
129 2

et - o
. "Cause is used mainly in three senses." — What are the three senses of the word
‘cause' ? In which sense Copi has particularly used the word ‘cause’ ? Explain. 12 + 3
jarcay e Yeros fofh el Ay 3w 217 — @B foAlt W F Pl 2 Copi (W W IR AN

PEICRA 2 TETHN] PP |

Discuss critically, Mill's method of Agreement as a method of discovery. 15

IR T WRRET afe weol N A 2o/ e AR/ AETA 396+ |
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- 12, Explain the differences between scientific and unscientific explanation. Discuss with
examples the seven stages of the scientific method. 8+17
T @ WIS AN V& AT AR 3F | (&[S 2@ A 7 GEEIR AT T |
13. Calculate the probability of the following cases : 3x5=13
va crasfra ARl el I |
1) In a book fair there are five similar entrances Four friends have come to visit
the book fair. What is the probability of their entering the fair by the same
entrance ?

421 [ I3 (Y G2 IBEI AT 2@ oY WG | (Tl (TS S R 359 & 9A56a
@Re @3 A Y A ARER TSRS IS ?

i) What is the probability of getting at least one tail and at most one tail in
3 tosses of a coin ?

@b I foR el IET TW0: GIA 932 SAES QI (5oT AT AR IS ?

i) What is the probability of getting either the king or the ace of Diamond in
drawing a card from a deck of playing cards ?

2] @3l OIeR A& (A a3 Pt ot et o FROEE ren Al (6F JSTR AR T ?

SR

( OLD SYLLABUS )
Answer any six questions taking two from each of Groups A, B, C and question No. 13.

=, 9, o Koo affelb (@ 1 empiz =afb o @3t 13 72 2t e e |
Group - A
fTom -

- B a) Translate the following sentences into standard form categorical propositions :

fsfie amefie sl srrEa Raers BE aoERe Iw

1) There are white elephants.
vl 21 I |

ii) Buddhists are not only atheists. :
SIERERUE N CREECESIGIE

1ii) People seldom know themselves.
ifbe WHE NS (e |

iv) All is well that ends well.
A e K N 9l |




Ltcuss with
8 +°

a7 e |
3x5 =18
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What is conversion ? Is conversion of the proposition A possible ? Discuss with
examples. 9 +4

ARG B AET 2 A IET ARSA F3K [ 2 TWmgersiz L 35+ |

Give the contrapositive of each of the following sentences. State whether the

contrapositive is equivalent to the given proposition. 2%+ 2% =5
e aefler afelta smikafos we ftm @az ofS wea S a0 @ sfafee w4
oG IHAA A (el WL |
i) Whales are mammals.

oy Tl &1 |
1) Children are present.

fRraar SoifEs |

Following the traditional logic explain and illustrate the rules of contrary
opposition with example. Why is the contrary opposition of propositions not

accepted in Boolean logic ? | < 4 35
oo YR e Redie Ao FaweR Srzaenz - o5 N o
ot Reiire R Higo a3 (o 2 ‘ |
Given ‘'all crystals are solids' as true, what may be inferred about the
following ? 3x2=6

It o7 %o 27 " Ny 23, v FsfRRe el e e e w0 3w 2

1) All solids are non-crystals.
3R Pl =W IEH |
i) All non-solids are crystals.
Q- 7Y B |
i) Some crystals are non-solids.

@ (@ FHF T -9 |

Distinguish, with examples between the relation of contrary oppositions of
propositions and the relation of sub-contrary opposition of propositions. 4

TwIRerTR B F9de Rfzel ¢ si@lw oo Rafyor wwy e =1

If both premises of a syllogism are negative, the argument must be invalid.
Why ? Discuss. 5

Ffw el A qfb SRR A9 3 e @ Faers Al wiey 20 91 @ 2

AT LA |
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d)
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What are ' the differences between inclusive disjunction and exclusive

disjunction ? : 45

i@l g ST S<1-4 N A% (WA |
What is existential fallacy ? ; 2
AIfGPS! (MY DI 6T 2 |

Identify the symbolic form and test the validity of the following argument : 1 + 3
If you believe this, then you are fool.
You believe this. Therefore, you are a fool.

S Ifela sMefor SR m ¢ el (v %
Ul e Qe eyt SEs, o ey g1 el Qe Rt dEE | feRe S 3|

4. Transform theifollowing arguments into standard form of categorical syllogisms.

Mention their figure and mood and prove their validity by Venn diagram. 3Ix5=15 ‘

e Yfeafic amw Raem A eem s o §f% ¢ e Sy SE (o MR

age! [Ap1a F |

iii)

b)

All worldly goods are changeable things, for no worldly goods are thmgs
immaterial, and no material things are unchangeable things.

4 A 7R RSN T (I 2A1fF TG -G T AR (P GG IFR - A&
T |

Although he complains wherever he is sick, his health is excellent, so he won't
complain.

YA O P 7Y 02 O OIS 6, O 77 6T ¢ WO 6 1
EIO - 3rd figure
EIO - 0¥ JAHE |

Group - B

faemt - 9
What is the difference between argument and argument form ? Write an
example. 3

fe gz Ife TiEa V@ «GA0en @I 7 QP SurRge 1w |

Determine whether the following statement forms are tautology, self-
contradictory or contingent by means of truth-table : 2 %3 =6

AOPANG ABIET A5 e Fozse;, A1 Fosan a1 weifes o Ny s -
i) Znan

ii) [po(gop)2[lgog)o~(ror)]

e il




exclusive c)
4
24
t: 1 +5
a)
3 ?Pf'
ogisms. ‘
K'S = 1 ‘1
things
b)
e won't
a)
b)
fite an ..
3
¥, self- 8

x3=6
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Use truth-tables to determine -the validity or invalidity of the following
2x3=6

arguments :

STepTRdR TR Yfeala (el [ReR w96
i) (GVH)> (G.H)
~(G.H)/ . ~(Gv H)
i) Uo>(VvW)
(V.W)os~U/[.~U
Construct formal proof of validity for the following arguments :
e Yfeaflr wemere e e fw
1) T(UvV)
TolU>o(W.X)]
(TV)o~(WvX)/ . W=X
i)  (x)(Fx>~Gx)
(Ix ) Hx.Gx) /[ .. A 3x W Hx. ~ Fx)

iiij) Any author is successful if and only if he is well read. All authors are
intellectuals. Some authors are successful but not well read. Therefore all

intellectuals are authors.

(@ @ TR Hee TR T @ee @ 1w o feifee 21 ) e1eed EE
g @14 e g (9% 77 | wowd, 3] JEEIN-2 @13 |

State and explain the limitations of the rule Existential Instantiation (E.I.) 3
E.l. FaeR Armeiefe SraEgs s a1 3 |
Find a normal form equivalent to the following : 1%2+ 1% =3

el ST YR APE TS I
1) ~(x)(~ Dxv Jx)
i) ~t3x |~ (Ox v = Px)i
Prove the invalidity of the following by assigning truth values : 3 x4 =12
SO SARMANT QT DCILO] AN o
i) (x)(Hx o~ Ix)
(3x)(Jx. ~ Ix) / . (x)(Hx > Jx)
ii) Do (EVF)
GotH vi)
~E>(IvJ)
(ISGll=Ho~G)f . PG vi)
=
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b)

ToNfE THRER Nwsel BTz 2 9 |

Discuss critically Mill's method of difference as a method of proof and a method d
discovery. 1§

PRI HEF WREE O AN AFS 0o NEeTa AFOER) 7S A AT 6 |

iii)  All players are handsome. Some intellectuals are handsome. Thereforﬂ
some players are intellectuals.

A AETRTGR Ao | 5y IFESA o | foan g eeTmare IS |

Analyse the truth-value of the following using the method of resolution : 3+
RN Amieq RIS O] g s -

)  [(po9g)prl>og

i  [(p.q)v(~p.~r)l=(gq=T)

Use Fell Swoop to determine whether the first schema of following sets implié
the second : : 24

WWWWWW@W@W@WQWWWQFW

TR A

i) a) p>o(qvr)
b) po>og

i) a p>(q.~q)
. b) p>oll(g.r)=r]

Distinguish between a consistent truth-functional schema and valid truth
functional schema.

.

A=A truth- functlonal schema @32 (3¢ valid truth-functional schema-&3 il
I |
Group - C
faem - o
Explain and illustrate the criteria for appraising analogical arguments. 13

Explain the conceptions of necessary condition and sufficient condition. Is the
conception of cause as necessary-sufficient condition consistent with the conception
of plurality of causes ? 4+4+]

TRATE @ 2% WS QI AR BEA | DA HRED - oS # G @ Gl [ qgdEema A

ooy 2
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Calculate the probability of the following : 3% 5=15
qve crasfia sERTel Aoy %
i) What is the probability of rolling two dice so that the total number of points

which appear on their top be either 4 or 6 ?
7% Yiore v et v oo (1 12 Tow Ot oreet 8 WAl & 29 AR 2

1i) What is the probability of getting at least one tail i‘n the toss of three fair coins ?
forb oPmoTeRl 31 531 S Po: A (BeT SR FHIRA TS 2

iii) In drawing three cards in succession from a standard deck, what is the
probability of getting three hearts ?

G AR SR 2GR 21797 [o7b oF1 o e, fofh oirig zaey 2z A e

PO ?
x) If each card is replaced before the next draw.

T 278! O (Ot el 28! Oifb MM el crewr 27

y) If the cards are not replaced.
I coreT ol fRefa 1 orewn 2w
Group - D
faett - 1
Answer any five questions : 5x2=10
@ @ Ao orm Te e
a) Translate the following sentence in symbolic form using quantifier, variables
ele":

All members are both officers and gentlemen.

ANeT I AMEF, W 3oNfag AZET AUF oS HH AP FFA -
R AWNE AN @ ST |

b) What is meant by distribution of terms in a proposition ?

I/E NI ATS! Io100 F (@RTT 2

c) What is quantifier ? What are its types ?

VAP PP AET 2 VAP PO PRI F ?
d) Why is the predicate term of A proposition not distributed ?
A I [T 2% (9 A1 7 2
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€) What is argument form ?
e weE & 2

f) What do you mean by product-class ?
BT AN FeTCo R @RI 2

g) What is null class ? Give one example.
*F TS @ P T 2 TR T

h) What are two claims made by Mill about his method ?
Mill O *rafosfer 7o 1 wfF 4t vw@w o 6 5 2

i) What are the three laws of thoughts ? R E
e oja feafs 5 s 2 :
1) Give the form of the method of agreement.

A mfod e W |




